1: The speed of a car i1s 70 m/s. What was this speed in km/h?
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2: The micrometer (1 gm) 1s often called the micron. (a) How
many microns make up 2 km? (b) What fraction of a
centimeter equals 10 gm? (¢) How many microns are in 2 yd?
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3: In printing some book, a length unit of “points™ and
“picas” are used: 12 points = 1 pica, and 6 picas = 1 inch.
What is 2 ¢cm 1n (a) picas and (b) points?
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4: A plant can grow 0.2 m 1n 5 days. What was its growth rate
in micrometers per second?
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5: Earth has a mass of 6 x 10?4 kg. The average mass of the

atoms that make up Earth 1s 35 u. How many atoms are there
in Earth?
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6: Assuming that oil has a density of 0.3 g/cm?, find the
density of that oil in kg/m".
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